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Key Learning: to answer addition and subtraction equations              8.6.20
Success criteria:
[image: ]- I can add and subtract without crossing tens
- I know a suitable method to solve equations
[bookmark: _GoBack]








Solve the equations and colour in the answers on the grid to find a way out of the maze.
10 – 6 =                                                              31 + 8 = 

39 - 2 =                                                              10 – 8 = 

9 – 8 =                                                                30 + 8 = 

33 + 7 =                                                              12 + 4  = 

7 – 2 =                                                                 13 + 2 = 

39 – 3 =                                                               10 – 7 = 

23 + 3 = 
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